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Second Semester 3 Year LL.B./VI Semester 5 Year B.A.LL.B./B.B.A.LL.B./
B.Com.LL.B./B.A.LL.B. (Maj.-Min. System)
Examination, October/November 2022 (June 2022)
PROPERTY LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.
Q. No. 1. Discuss the doctrine of constructive notice. Marks : 16
1B (F,008) SPE ROBBE) WiFAO.

Q. No. 2. Discuss the rule relating to transfer for the benefit of
unborn person. Marks : 16

u@#@cﬁaﬁ(&%@&ﬁ) RFOD TO3REBITN BRET 55303’6@
ROWORAT DOTONTRY, DWOR.

Q. No. 3. Discuss the doctrine of lis-pendens with the help of cases. Marks : 16
aa;c;ﬁrmﬁd [TOD T, %m@oéa’:g’% WNIFRD.

Q. No. 4. What are liabilities of mortgagee in possession ? Marks : 16
0,068 BRODTIN UBERRNIWITS BRBMOFNTITYE) 7

Q. No. 5. What are the different modes of termination of lease ? Marks : 16
ﬁeséojﬁaq ZRIRRPID AP ATINTOT) 9
Q. No. 6. Exblain the ‘doctrine of election’. Marks : 16
‘5o, f%cs%oé’ddg( QPO
Q. No. 7. Define Trust. Explain various kinds of Trust. Marks : 16
TYART, TEWIX. WANG QDG TFONII) V0.
P.T.O.
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Marks : 2x8=16
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Q. No. 8. Write short notes on any two :
CIRFTHTTR QTWE, VP 3L WTCWD :
(a) Immovable property.
20 2,3).
] X =0
(b) Extinction of trust.
VAT @03,
(c) Onerous gift.

YPTOI0T TR,

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20 @
YN CINTYTRTTR ATW BRORVN VB0 :

(a) ‘A’ transfers his immovable property worth Rs. 10,000/- to
Lord Sri Venkateswara. The deed of transfer is not
registered. Is the transfer valid ? Give reasons.
‘A Q020RDD 3an 503 10,000 Semeod B phm
ATRR030R) 8¢ Ho8kied,T Tesdrt BanosT SRR, BATT
T BREOTHHHOIRNDPHY,. B DB A BA0STHE ?
F2000 BRE.

(b) Ashok makes an absolute gift of house to Basavaraj

with a direction that Basavaraj shall reside in it. Is
this transfer valid ? Give reasons.

> 0w, BIoLY WATTIESe F BREWED 20w O
DTF ITTART WTREFTD T, WOFODIY,  WARTIRIN
RORPLFTIN THT BDRTITE. B3 IMERH  AOFIRE 9
F0ED IRR.

(c) ‘A’ who is expecting to succeed to the estate of ‘B’ sells
‘B’s property to ‘C’. Later ‘A’ succeeds to the property
of ‘B’. Can ‘C’ claim the property ? Give reasons.
‘W oD SN TR YUBCTRIRN BE0INBE0300Td PR
‘WO & BRI X R BRDWS, HeS ‘W g
SROITY VST BEBVZS,. ‘2" 030 &530% ees £
ﬁﬁ% ARORWBITE 7 TTLNAROON GZOA.
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